Corrigé bac 2010 : Anglais LV1
Série STG-ST2S — Métropole

Ces éléements de correction n'ont qu’'une valeur
indicative. lls ne peuvent en aucun cas engager la
responsabilité des autorités académiques, chaqueryu
est souverain.

Baccalauréat Technologigue

Session 2010
ANGLAIS

LANGUE VIVANTE 1

LV1 STG (GSI), STI, ST2S, STL
Durée de I'épreuve : 2 heures — coefficient : 2

LV1 STG (CGRH, CFE, MERCATIQUE)
Durée de I'épreuve : 2 heures — coefficient : 3

STG et ST2S . Compréhension : 10 points Exprassi® points
STlet STL : Compréhension : 12 points Expressi®oints

L'usage de la calculatrice et du dictionnaire astndit.

Alexander McCall SmithThe n°1 Ladies’ Detective Agendp98

Corrigé Bac 2010 — Série STG-ST2S — LV1 Anglais étridpole www.sujetdebac.fr
10ANTEME1/LR1/AG1C




BTN ANGLAIS LV1 STG, ST2S SESSION 2010.
CORRIGE / BAREME THE N°1 LADIES’ DETECTIVE AGENCY.

TOTAL DE LA COMPREHENSION : 20 points a diviser par 2.

Ne sanctionnez pas les candidats qui n'utilisent gaes guillemets, ou qui ne mentionnen
pas les numéros de lignes.

| - GENERAL COMPREHENSION

Write down the right answer. 7 x 0,5 pt 3,5 pts
1) b- a letter 5) a- Ernest’s son
2) a- ateacher 6) c- missing
3) b- a detective 7) a- Ernest

4) b- a need for information

Il — DETAILED COMPREHENSION

A- Right or Wrong? Answer and justify by quoting from the text. 6 x1pt==6 pts

Les mots en caractéeres gras constituent le minimuwbligatoire pour obtenir la totalité des
points. Ne pas tenir compte des numéros des lignes.

1-WIL3 “l read about you in the newspaper...

2-W I3 “...you have opened this big new agency’..

3-R1.8 “My wife andl have two daughtersand a son of eleven.”
4- W 1.9,10 This boy(...) has not been seen for two month’s.
5-R1.26 1 cannot afford the services of a private detective.”

6- R1.30,31 “...pleasaddress a note..”

B- Pick out words or phrases: 6 x Of = 3 pts
1- 14,5 1 am very proud for Botswanahat we now have a person
like you in this country.”
2- 1.12 1 took time off from school and searched the landaround
our village.”
3- a)l.16 “..a boy who liked to wander..”

b) .16, 17 He was always collecting rockand things like that.”
c)l. 17 ‘He knew a lot about the bush..
4- 1.18 ‘There are no leopards in these parts any more?..

C- What do the underlined pronouns refer to? 6 x 0,5 pt=3pts

1- (line 8) Ernest / the narrator

2- (line 11) the police

3- (line 21) every farmer / (all) the farmers

4- (line 22) Thobiso / “my son” / Ernest’s son

5- (line 26) the private detective / Mma Ramotswe
6- (line 30) people
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D- Find the synonyms in the text for the followingwvords and expressions:
5x 0,5 pt = 2x5 pts

1- 1.8 passed

2- 1.9 vanished
3- 1.21 to check
4- .26 wealthy

5- .27 enquiries

E- Quote the sentence showing that Ernest believd$hobiso is able to take care of

himself. 1 pt
l.17-18 *“...he would never get into danger from sdity...”
F- Quote the sentence showing that Ernest is totglconfused by the situation. 1 pt
.23 “How can a boy vanish off the face of the kdike this”

[l - EXPRESSION ECRITE : Les deux sujets sont oblgatoires
(20 points a diviser par deux)
- 80 mots : 8 points

- 120 mots : 12 points

STG/ ST2S 20 points
80 mots : 120 mots :
8 points 12 points
Respect de la consigne, 05 05
nombre de mots
Enchainement et cohérenfe
L 3 5
des idées
Correction grammaticale 2
Richesse lexicale 2 2
Bonus (prise de risque) 0,5 15
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